API NO. 15- __

193-206440000

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM	CountyITIOIRAS
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	
Operator: License # 5420	1320 Feet from S (0) (circle one) Line of Section
Name: White & Ellis Drilling, Inc	Feet from (C) (circle one) Line of Section
Address P. O. Box 48848	Footages Calculated from Nearest Outside Section Corner: (日,文氏以版次以及以版(Circle one)
Wight TO 67201 004	Lease Name Cranston Farms Well # 2-17
City/State/Zip Wichita, KS 67201-884	Field Name <u>Morgan</u>
Purchaser: N/A	Producing Formation N/A
Operator Contact Person: Michael L. Considine	Elevation: Ground 3213' KB 3218'
Phone (316) 263-1102	
Contractor: Name: White & Ellis Drlg., Inc.	Total Depth 2881' PBTD
License: 5420	Amount of Surface Pipe Set and Cemented at 354' Feet
Wellsite Geologist: Thomas Funk	Multiple Stage Cementing Collar Used? Yes X No
Designate Type of Completion	If yes, show depth set Feet
X New Well Re-Entry Workover	If.Alternate II completion, cement circulated from
OilSWDSIOWTemp. Abd. GasENHRSIGW	feet depth to w/ sx cmt.
X Dry Other (Core, WSW, Expl., Cathodic, etc)	Drilling Fluid Management Plan D&A 994 5-29-96
If Workover:	(Data must be collected from the Reserve Pit)
Operator:	Chloride contentppm Fluid volumebbls
Well Name:	Dewatering method used
Comp. DateOld Total Depth	Location of fluid disposal if hauled offsite:
Deepening Re-perf Conv. to Inj/SWD	
Plug Back PBTD Commingled Docket No.	Operator Name 3-5-46 > OFT
Dual Completion Docket No.	Lease NameLicense No.
Other (SWD or Inj?) Docket No.	Quarter Sec Twps RngE/W
2-19-96	County Docket No
- Room 2078, Wichita, Kansas 67202, within 120 days of the Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the	side two of this form will be held confidential for a period of form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS
All requirements of the statutes, rules and regulations promulg with and the statements herein are complete and correct to the	gated to regulate the oil and gas industry have been fully complied we best of my knowledge.
Signature Muchael d. Considere	K.C.C. OFFICE USE ONLY
itle Secretary-Treasurer Date 2-	F / Letter of Confidentiality Attached
Subscribed and sworn to before me this 27thday of Febr	C Geologist Report Received
9 96	Distribution
Hotary Public audin Sadin	KCC SWD/Rep NGPA KGS Plug Other
Carolyn JV Tjaden V Date Commission Expires <u>September 5, 199</u>	6 (Specify)



Form ACO-1 (7-91)

Other (Specify)



AND ELLIS DRILLING, Inc.

DRILLERS LOG

Operator:

White & Ellis Drilling, Inc.

P. O. Box 48848 Wichita, KS 67201-8848

Contractor:

White & Ellis Drilling, Inc. P. O. Box 48848
Wichita, KS 67201-8848

Lease Name Cranston Fa	ırms	Well	No. $2-17$	
Spot E/2 E/2 NE Sect	ion <u>17</u>	Township 88	Range _	34W
County Thomas		State	Kansas	
Casing Record:		.•		
Surface: 8 5/8	8" @	354'	with	
Production:			with.	
Type Well: D&A		Total Dept	h 2881	1
Drilling Commenced:	2-19-96	Drilling (Completed:	2-21-96
Formation	From	To	Tops	
Cellar Clay, Sand & Shales Shales, Clay & Sand shales Shale & Sand Shale, Lime & Red Bed	0 5 355 1135 1760 2255	5 355 1135 1760 2255 2881	Anhydrite B/Anhydrite	2757 2786

TELEPHONE:

~ CAREA CODE 913 483-2627 AREA CODE 913 483-3887

ALLIED CEMENTING COMPANY, INC.

P. Ö. BOX 31 RUSSELL, KANSAS 67665 ORIGINAL

TO:	White & Ellis Drilling, Inc.	INVO	ICE NO. 70969	
	P. O. Box 48848	PURCHASE ORDER NO.		
	Wichita, KS 67201-8848	_ LEAS	E NAME Cranston Farms 2-1	
		_ DATE	2-19-96	
	ERVICE AND MATERIALS AS FOLLOWS:			
38	ERVICE AND MATERIALS AS FOLLOWS:			
	Common 108 sks @\$7.20	\$777.60		
,	Pozmix 72 sks @\$3.15	226.80		
	Gel 3 sks @\$9.50	28.50	·	
	Chloride 8 sks @\$28.00	224.00	\$1,256.90	
			KANSAS 1996 NAR	
	Handling 180 sks @\$1.05	189.00	TSOLAR!	
	Mileage (24) @\$.04¢ per sk per mi		RE SAS	
	Surface	445.00	P N∏	
	Extra Footage 54' @\$.41¢	22.14	-5 SE	
	Mi @\$2.35 pmp trk chq	56.40		
	l plug	45.00	D 2930.34 □ 2930.34	
		13.00	= 8	
	• • •	Total	\$2,187.24	
If Accou	unt CURRENT a		φ + <u>1</u> 1 - 0 · . • - 1	
	ot of the Adam Ar	•	(C C C C C C C C C C	
	Allowed ONLY if 13003 (1 10550 \$1749	,	WEGEINEW	
	ithin 30 Days from	79		
	Invoice. TI III		\	
Date of	Allowed ONLY if 1300311 10550 #1,749 ithin 30 Days from Thank You!		140 2 0 1990	
	All Prices Are Net, Payable 30 Days Following Date of Invoice. 1			
		· · · · · · · · · · · · · · · · · · ·		

ALLIED CEMENTING CO., INC. ORIGINAL SERVICE POIN

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

 \mathcal{C}_{n}

SERVICE POINT:

,					
DATE 2-19-96 SEC. TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH PAR
Cranston		21 11 -	• •	COUNTY	STATE
	LOCATION Colb	x 40-1/25	-W.S.	14omas	<u> </u>
OLD OR NEW (Circle one)					
CONTRACTOR White + E1	1: DI #9	OWNER	5	GREE	iet (in
TYPE OF JOB SUFFACE	113 22 6	O WALDA		CEMENT	
HOLE SIZE 1214 T.D.	355′	_			
CASING SIZE 85% DEP	TH 354'	AMOUNT OF	RDERED <u>180</u>	5K5 6940 DX	12, 4%CC
TUBING SIZE DEP	TH				2%60
DRILL PIPE DEP	TH				
TOOL DEP		_	1000	@ 220	77760
	IMUM	_ COMMON	108 sks	_	226 80
	E JOINT	_ POZMIX _	72 SK5	-@ <u>3'2</u> @ 9 <u>50</u>	2850
CEMENT LEFT IN CSG. PERFS.		_ GEL CHLORIDE	<u>3 5,65</u> 8 5,65	- @ 7 <u>8°C</u>	224 00
PERFS.		_ CHLORIDE_	<u> </u>		
· PATITUS SERIO				- @ 	
EQUIPMENT				@	
	11			@	
PUMP TRUCK CEMENTER L	alt			@	
# /9/ HELPER N	10y	 HANDLING 	180 sks	@ <u>/05</u>	18900
# 218 DRIVER		MILEAGE	44 per sku	ml-1	1720
BULK TRUCK		_			1 112 70
# DRIVER				TOTAL	1,618 70
REMARKS:			SERVI	CE	
REMARKS.					
		DEPTH OF J	OB	3:	541
		PUMP TRUC			44500
		EXTRA FOO	TAGE 54'	@ 41\$	22 14
		_ MILEAGE _		@ <u>735</u>	56 40
Comout Dal	Circ	PLUG 85	& Surface	_@	4500
	100	9		_@	
·	Ned To			@	
					-, 54
	_			TOTAL	568
CHARGE TO: Ukite + Ell	is Dela Co.	_			
STREET Box 48848	, ,		FLOAT EQU	IPMENT	
	\	_	120:11 = 20		
CITY Windre STATE COME	ZIP67201.	<u>-20045</u>			
$\mathcal{L}_{\mathcal{L}} = \mathcal{L}_{\mathcal{L}} + \mathcal{L}_{\mathcal{L}}$					
6.					
•	* • •				
•					
				ΤΩΤΔΙ	
	•			IOIAI	
		TAX		-	
To Allied Cementing Co., Inc.		TOTAL CHA	RGE		
You are hereby requested to rent cem					
and furnish cementer and helper to a		DISCOUNT		IF PA	ID IN 30 DAYS
contractor to do work as is listed. The		3			
done to satisfaction and supervision		D			
contractor. I have read & understand		ט			
CONDITIONS" listed on the reverse	e side.				

AREA CODE 913 483-2627 AREA CODE 913 483-3887

ALLIED CEMENTING COMPANY, INC.

P. O. BOX 31 RUSSELL, KANSAS 67665

ORIGINAL

TO:	white a Ellis Drilling, Inc.	INVOICE NO.	70970
	P. O. Box 48848	PURCHASE OF	RDER NO.
	Wichita, KS 67201-8848	LEASE NAME	Cranston Farms 2-17
		DATE2	-21=96
s	ERVICE AND MATERIALS AS FOLLOWS:		
	Common 114 sks @\$7.20	\$820.80	
	Pozmix 76 sks @\$3.15	239.40	
	Gel 10 sks @\$9.50	95.00	· .
	FloSeal 48# @\$1.15	55.20	\$1,210.40
	Handling 190 sks @\$1.05	199.50	
	Mileage (24) @\$.04¢ per sk per mi	182.40	
	Plug	550.00	
	Mi @\$2.35 pmp trk chg	56.40	
	l plug	23.00	1,011.30
		total	\$2,221.70
If Acco	unt CURRENT a		
	nt of \$ <u>444.34</u> /3003/7 /C	0550 \$1,777.36	
	/ithin 30 Days from	·	
Date of	f Invoice. Thank You!		**
	All Prices Are Net, Payable 30 Days Following Date of Invoice	e. 1½% Charged Thereafter.	

ALLIED CEMENTING CO., INC.

REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 JOB FINISH PM RANGE ON LOCATION
5:15 CALLED OUT JOB START Cranston LEASE Facus COUNTY Colby 4W-1/25-LOCATION OLD OR NEW (Circle one) CONTRACTOR **OWNER** TYPE OF JOB **CEMENT HOLE SIZE** T.D. **CASING SIZE** AMOUNT ORDERED DEPTH **TUBING SIZE DEPTH** DRILL PIPE **DEPTH** TOOL DEPTH PRES. MAX **MINIMUM** SKS COMMON_ MEAS. LINE SHOE JOINT POZMIX 26 SKS @ CEMENT LEFT IN CSG. GEL @ SKS PERFS. CHLORIDE @ 48# Flo-Sec @ @ **EQUIPMENT** @ @ **PUMP TRUCK CEMENTER** # 191 BULK TRUCK @ **HELPER** HANDLING 190 <u>515</u> @ MILEAGE_ 44 Dar SK/mil # 218 BULK TRUCK DRIVER TOTAL DRIVER **REMARKS: SERVICE** 25 5K5 2725 DEPTH OF JOB 100 1915 PUMP TRUCK CHARGE SKS 2 **EXTRA FOOTAGE** 40 SKs. 405 **MILEAGE** 10 SKS. 401 15 @ @ TOTAL _629 40 CHARGE TO: FLOAT EQUIPMENT STATE (2000) ZIP 67201-884 @ @ @ @ @ **TOTAL** To Allied Cementing Co., Inc. TOTAL CHARGE __ You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or IF PAID IN 30 DAYS DISCOUNT contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

SIGNATURE